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BN Artth X 4 & 9 y= X2 Gy x y 2 F $=IXE. Proof?

« BI1) (+10 HW points) Use the technique showed in class involving linearity of summation to derive Pg. 858 §I%
formula #3 if you know formula #2 is true. Please do not use induction. Hint: Set up a collapsing sum with
(i+1)A3 - ird. o ar

« B2) (+5 points) In the game "rock, paper, scissors", there are 3 rules: rock smashes scissors, scissors cut
paper, paper covers rock. In the game "rock, paper, scissors, lizards, Spock", how many rules are needed?
What if you have the game with n items: how many rules are needed? (another +5 HW points: What if you have

a game with n+1 items: how many more rules are needed than the number of rules for the game with just n
- items? Relate this to the markers-eraser theorem )

« B3) (+5 HW points) Write nC2 in sigma notation.
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SequENS & Senes
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